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Let S = [V1 ]+ [N2]+|V3]+....4[~2019 |. Evaluate [ VS ].
Solution by Arkady Alt , San Jose ,California, USA.

Foranyn e N letS, = f]L,/H and(n) =n—|Jn |’ € {0,1,..,L,/ﬁf+2L,/ﬁJ}.
k=1

That is any n € N can be uniquely represented in the form n = m? + p,where m € N and

p€{0,1,...2m}.Then S, = me,/ﬂ +§p3L,/m_z+kJ = me,/ﬂ +m(p+1)

and ZL,/‘J g%ﬁt,/k2+zj S - 2k(2k+1) - (’"_1)”;(4’"”)
k=1 i=0 k=1 =0
Hence, S, = m(4m + 16)(m D +m(p+1).

For n = 2019 we have m = | J2019 | = 44,p = 2019 — 442 = 83 and, therefore,

44 . (4 - 44+1)(44 D L 44.84 — 59510

S = 82019 =
Hence, | VS | = L,/5951 | =243.
Remark.

m@m+1)(m—-1)
6
m(6n— (2m+5)(m—1)) _

Sincep=n-m?>andm = | /n |then S, = +mn—m>+1) =

%m(6n—2m2—3m+5) = g
Lﬁj(n— (2|_~/ﬁl+5é(|_ﬁl_1) )

Thus,é]L,/%J - Lm(n— (ZLﬁHSg(LﬁJ—l))




